Data sheet

Commercial Art.No.: 72.700.1058.0
Female insert BAS BUC 10 69

Female insert revos basic, 10-poles, rated current: 16A, rated voltage:690V, with tin-

plated contacts

Commercial Art.No.
EAN
Order Unit

Certificates / Approvals

Technical data

General

Model

Inflammability class of insulation material acc. with UL94
Color

Mating cycles

Pollution degree

Modular version

Operating temperature range min.

Operating temperature range max.

Connection Data

Connection type

Number of poles

Plus switching contacts

Number of pole for rated current 2

Number of pole for rated current 3

Total number of poles (without ground contact)
With wire protection

Protective contact

Technical Data UL/CSA

Rated voltage according to UL/CSA

Rated current according CSA

Min. conductor cross section flexible wire
Max. conductor cross section flexible wire
Conductor cross section flexible AWG wire

Model

72.700.1058.0
4015573228726
10

@

Female insert
VO

Grey

200

3

No

-40°C

120 °C

Crimp

10
No
yes

600 V

16 A

0.5 mm?

4 mm?
20-12 AWG

[0}

vz wieland

SN

o e

.., | U'UDL".-‘EEI' L

- b

” .

) [Ge P o)

s - /’! -
Ny 2%~ Ty
- . . Leal :‘_:j .
a ‘ 1 &

Creation date 14.04.2015

Reserve technical changes

Page 1



With housing

Contacts

Contact material
Surface

Contact resistance
Wire strip length

Screws head design/recomm. Torque

Mounting screws

Ground conductor screws

Technical Data DIN EN 61984

Nominal voltage

Rated voltage face/ground

Nominal current

Rated impulse voltage

Classification

ECLASS 11
ECLASS 8.1
ETIM 7.0
ETIM 6.0
ETIM 5.0
ETIM 4.0

Product compliance

ROHS conformity status
REACH-SVHC conformity status

Fits with

Commercial
Art.No.:

71.350.1035.0
71.350.1035.1
71.350.1035.2
71.350.1035.3
71.352.1035.0
71.352.1035.1
71.352.1035.2

71.352.1035.3

Article-type description:

Hood BAS GOT GG 10 M20 AQ

Hood BAS GOT GG 10 M20 A1

Hood BAS GOT GG 10 M20 A2

Hood BAS GOT GG 10 M20 A3

Hood BAS GOT GI 10 M20 A0

Hood BAS GOT GI 10 M20 A1

Hood BAS GOT GI 10 M20 A2

Hood BAS GOT GI 10 M20 A3

Y

No

See contacts
See contacts
< 1.5 mOhm
7 mm

H1/0.5-0.7 Nm
H2/1.2-1.6 Nm

690 V
690 V
16 A
8 kV

27440205

EC000438
EC000438
EC000438
EC000438

Compliant
Compliant

Description:

Hood revos basic made of aluminum, for single locking lever with
cable gland M20 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
threaded hole M20 on the right side, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
nozzleM20 on the right side, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
trumpet gland M20 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
cable gland M20 on the top (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
threaded hole M20 on the top, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
nozzleM20 on the top, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
trumpet gland M20 on the top (IP54), low version, 10-poles

wieland

Creation date 14.04.2015

Reserve technical changes

Page 2



71.353.1035.0

71.353.1035.1

71.353.1035.3

71.354.1035.0

71.354.1035.1

71.354.1035.3

71.372.1035.0

71.372.1035.1

71.372.1035.3

71.450.1037.1

71.452.1037.1

76.350.1035.0

76.350.1035.1

76.351.1035.0

76.351.1035.1

76.351.1035.3

76.352.1035.0

76.352.1035.1

76.353.1035.0

76.353.1035.1

76.353.1035.2

76.354.1035.0

76.354.1035.1

76.354.1035.2

71.320.1028.0

71.325.1028.0

Hood BAS GOT GG 10 M25 A0

Hood BAS GOT GG 10 M25 A1

Hood BAS GOT GG 10 M25 A3

Hood BAS GOT GI 10 M25 A1

Hood BAS GOT GI 10 M25 A2

Hood BAS GOT GI 10 M25 A5

Hood BAS GOT GL 10 M20 A0

Hood BAS GOT GL 10 M20 A1

Hood BAS GOT GL 10 M20 A3

Hood BAS GOM GG10 M20 B1

Hood BAS GOM GI10 M20 B1

Hood BAS GOT GG 10HM25 50 A0

Hood BAS GOT GG 10HM25 50 A1

Hood BAS GOT GH 10H M20 A0

Hood BAS GOT GH 10H M20 A1

Hood BAS GOT GH 10H M20 A3

Hood BAS GOT GI 10HM25 50 AO

Hood BAS GOT GI 10HM25 50 A1

Hood BAS GOT GG 10HM32 50 A0

Hood BAS GOT GG 10HM32 50 A1

Hood BAS GOT GG 10HM32 50 A2

Hood BAS GOT GI 10HM32 50 A0

Hood BAS GOT GI 10HM32 50 A1

Hood BAS GOT GI 10HM32 50 A2

Bottom BAS GUT GK 10 A

Bottom BAS GUT GP 10 A

vz wieland

Hood revos basic made of aluminum, for single locking lever with
cable gland M25 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
threaded hole M25 on the right side, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
trumpet gland M25 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
threaded hole M25 on the top, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
nozzleM25 on the top, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
cable gland M25 on the top (IP65), low version, 10-poles

Hood revos basic made of aluminum, with single locking lever and
cable gland M20 on the top - free cable connection (IP54), low version,
10-poles

Hood revos basic made of aluminum, with single locking lever and
threaded hole M20 on the top - free cable connection, low version, 10-
poles

Hood revos basic made of aluminum, with single locking lever and
trumpet gland M20 on the top - free cable connection (IP54), low
version, 10-poles

Hood revos basic metal-series without coating, for single locking lever
with threaded hole M20 on the right side, low version, 10-poles

Hood revos basic metal-series without coating, for single locking lever
with threaded hole M20 on the top, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
cable gland M25 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
threaded hole M25 on the right side, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
cable gland M20 on the front (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
threaded hole M20 on the front, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
trumpet gland M20 on the front (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
cable gland M25 on the top (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
threaded hole M25 on the top, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
cable gland M32 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
threaded hole M32 on the right side, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
nozzleM32 on the right side, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
cable gland M32 on the top (IP54), low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
threaded hole M32 on the top, low version, 10-poles

Hood revos basic made of aluminum, for single locking lever with
nozzleM32 on the top, low version, 10-poles

Bottom-base revos basic made of aluminum, with single locking lever,
open, low version, 10-poles

Bottom-base revos basic made of aluminum, with single locking lever,
open, low version, 10-poles

Creation date 14.04.2015

Reserve technical changes Page 3



71.330.1035.0

71.330.1035.1

71.331.1035.0

71.331.1035.1

71.333.1035.0

71.333.1035.1

71.335.1035.0

71.335.1035.1

71.340.1035.0

71.340.1035.1

71.341.1035.0

71.341.1035.1

71.342.1035.0

71.342.1035.1

71.343.1035.0

71.343.1035.1

71.420.1037.0

71.425.1037.0

71.430.1037.1

71.431.1037.1

71.440.1037.1

Bottom BAS GUT GL 10 M20 AO

Bottom BAS GUT GL 10 M20 A1

Bottom BAS GUT GM 10 M20 A0

Bottom BAS GUT GM 10 M20 A1

Bottom BAS GUT GO 10 M20 AO

Bottom BAS GUT GO 10 M20 A1

Bottom BAS GUT GM 10 M25 AO

Bottom BAS GUT GM 10 M25 A1

Bottom BAS GUT GR 10 M20 A0

Bottom BAS GUT GR 10 M20 A1

Bottom BAS GUT GS 10 M20 A0

Bottom BAS GUT GS 10 M20 A1

Bottom BAS GUT GT 10 M20 A0

Bottom BAS GUT GT 10 M20 A1

Bottom BAS GUT GU 10 M20 A0

Bottom BAS GUT GU 10 M20 A1

Bottom BAS GUM GK 10 B

Bottom BAS GUM GP 10 B

Bottom BAS GUM GL 10 M20 B1

Bottom BAS GUM GM 10 M20 B1

Bottom BAS GUM GR 10 M20 B1

vz wieland

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M20 on the right and left side (IP54), low version, 10-
polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M20 on the right and left side, low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M20 on the left side (IP54), low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M20 on the left side, low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M20 on the bottom (IP54), low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M20 on the bottom, low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M25 on the left side (IP54), low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M25 on the left side, low version, 10-polig
Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M20 on the right and the left side, with protective cover
(IP54), low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever

andthreaded hole M20 on the right and the left side, with protective
cover, low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M20 on the left side, with protective cover (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M20 on the left side, with protective cover, low
version,10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M20 on the right side, with protective cover (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M20 on the right side, with protective cover, low
version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M20 on the bottom, with protective cover (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M20 on the bottom, with protective cover, low
version, 10-polig

Bottom-base revos basic metal-series without coating, open, low
version, 10-poles

Bottom-base revos basic metal-series without coating, with single
locking lever and protective cover, low version, 10-poles
Bottom-base revos basic metal-series without coating, with single
locking lever and threaded hole M20 on the right and left side, low
version, 10-polig

Bottom-base revos basic metal-series without coating, with single
locking lever and threaded hole M20 on the left side, low version, 10-
polig

Bottom-base revos basic metal-series without coating, with single

locking lever and threaded hole M20 on the right and the left side, with
protective cover, low version, 10-polig

Creation date 14.04.2015

Reserve technical changes Page 4



71.441.1037.1

76.330.1035.0

76.330.1035.1

76.331.1035.0

76.331.1035.1

76.334.1035.0

76.334.1035.1

76.335.1035.1

76.340.1035.0

76.340.1035.1

76.341.1035.0

76.341.1035.1

76.342.1035.0

76.342.1035.1

76.344.1035.0

76.344.1035.1

76.345.1035.1

76.346.1035.1

70.350.1035.0

70.350.1035.1

70.350.1035.2

Bottom BAS GUM GS 10 M20 B1

Bottom BAS GUT GL 10HM25 50 A0

Bottom BAS GUT GL 10HM25 50 A1

Bottom BAS GUT GM 10HM25 50 A0

Bottom BAS GUT GM 10HM25 50 A1

Bottom BAS GUT GL 10HM32 50 A0

Bottom BAS GUT GL 10HM32 50 A1

Bottom BAS GUT GM 10HM32 50 A1

Bottom BAS GUT GR 10HM25 50 A0

Bottom BAS GUT GR 10HM25 50 A1

Bottom BAS GUT GS 10HM25 50 A0

Bottom BAS GUT GS 10HM25 50 A1

Bottom BAS GUT GT 10HM25 50 AO

Bottom BAS GUT GM 10HM25 50 A1

Bottom BAS GUT GR 10HM32 50 AQO

Bottom BAS GUT GR 10HM32 50 A1

Bottom BAS GUT GS 10HM32 50 A1

Bottom BAS GUT GT 10HM32 50 A1

Hood BAS GOT GA 10 M20 A0

Hood BAS GOT GA 10 M20 A1

Hood BAS GOT GA 10 M20 A2

vz wieland

Bottom-base revos basic metal-series without coating, with single
locking lever and threaded hole M20 on the left side, with protective
cover, low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M25 on the right and left side (IP54), low version, 10-
polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M25 on the right and left side, low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M25 on the left side (IP54), low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M25 on the left side, low version, 10-polig
Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M32 on the right and left side (IP54), low version, 10-
polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M32 on the right and left side, low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M32 on the left side, low version, 10-polig
Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M25 on the right and the left side, with protective cover
(IP54), low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M25 on the right and the left side, with protective
cover, low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M25 on the left side, with protective cover (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M25 on the left side, with protective cover, low
version,10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M25 on the right side, with protective cover (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M25 on the left side, low version, 10-polig
Bottom-base revos basic made of aluminum, with single locking lever
andcable gland M32 on the right and the left side, with protective cover
(IP54), low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M32 on the right and the left side, with protective
cover, low version, 10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M32 on the left side, with protective cover, low
version,10-polig

Bottom-base revos basic made of aluminum, with single locking lever
andthreaded hole M32 on the right side, with protective cover, low
version, 10-polig

Hood revos basic made of aluminum, for double locking lever or.
screw cap with cable gland M20 on the right side (IP54), low version,
10-poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with threaded hole M20 on the right side, low version, 10-
poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with nozzle M20 on the right side, low version, 10-poles

Creation date 14.04.2015

Reserve technical changes Page 5



70.350.1035.3

70.352.1035.0

70.352.1035.1

70.352.1035.2

70.352.1035.3

70.353.1035.0

70.353.1035.1

70.353.1035.2

70.353.1035.3

70.354.1035.0

70.354.1035.1

70.354.1035.2

70.354.1035.3

70.355.1035.0

70.355.1035.1

70.355.1035.2

70.355.1035.3

70.357.1035.0

70.357.1035.1

70.357.1035.3

70.358.1035.0

70.358.1035.1

70.358.1035.3

70.359.1035.0

Hood BAS GOT GA 10 M20 A3

Hood BAS GOT GC 10 M20 A0

Hood BAS GOT GC 10 M20 A1

Hood BAS GOT GC 10 M20 A2

Hood BAS GOT GC 10 M20 A3

Hood BAS GOT GA 10 M25 A0

Hood BAS GOT GA 10 M25 A1

Hood BAS GOT GA 10 M25 A2

Hood BAS GOT GA 10 M25 A3

Hood BAS GOT GC 10 M25 A0

Hood BAS GOT GC 10 M25 A1

Hood BAS GOT GC 10 M25 A2

Hood BAS GOT GC 10 M25 A3

Hood BAS GOT GD 10 M20 A0

Hood BAS GOT GD 10 M20 A1

Hood BAS GOT GD 10 M20 A2

Hood BAS GOT GD 10 M20 A3

Hood BAS GOT GF 10 M20 A0

Hood BAS GOT GF 10 M20 A1

Hood BAS GOT GF 10 M20 A3

Hood BAS GOT GD 10 M25 A0

Hood BAS GOT GD 10 M25 A1

Hood BAS GOT GD 10 M25 A3

Hood BAS GOT GF 10 M25 A0

vz wieland

Hood revos basic made of aluminum, for double locking lever or.
screw cap with trumpet gland M20 on the right side (IP54), low
version, 10-poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with cable gland M20 on the top (IP54), low version, 10-
poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with threaded hole M20 on the top, low version, 10-poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with nozzle M20 on the top, low version, 10-poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with trumpet gland M20 on the top (IP54), low version, 10-
poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with cable gland M25 on the right side (IP54), low version,
10-poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with threaded hole M25 on the right side, low version, 10-
poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with nozzle M25 on the right side, low version, 10-poles
Hood revos basic made of aluminum, for double locking lever or.
screw cap with trumpet gland M25 on the right side (IP54), low
version, 10-poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with cable gland M25 on the top (IP54), low version, 10-
poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with threaded hole M25 on the top, low version, 10-poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with nozzle M25 on the top, low version, 10-poles

Hood revos basic made of aluminum, for double locking lever or.
screw cap with trumpet gland M25 on the top (IP54), low version, 10-
poles

Hood revos basic made of aluminum, with double locking lever and
cable gland M20 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
threaded hole M20 on the right side, low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
nozzleM20 on the right side, low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
trumpet gland M20 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
cable gland M20 on the top (IP54), low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
threaded hole M20 on the top, low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
trumpet gland M20 on the top (IP54), low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
cable gland M25 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
threaded hole M25 on the right side, low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
trumpet gland M25 on the right side (IP54), low version, 10-poles

Hood revos basic made of aluminum, with double locking lever and
cable gland M25 on the top (IP54), low version, 10-poles

Creation date 14.04.2015

Reserve technical changes

Page 6



vz wieland

70.359.1035.1 Hood BAS GOT GF 10 M25 A1 Hood revos basic made of aluminum, with double locking lever and
threaded hole M25 on the top, low version, 10-poles

70.359.1035.3 Hood BAS GOT GF 10 M25 A3 Hood revos basic made of aluminum, with double locking lever and
trumpet gland M25 on the top (IP54), low version, 10-poles

70.372.1035.0 Hood BAS GOT GK 10 M20 A0 Hood revos basic made of aluminum, with double locking lever and
cable gland M20 on the top - free cable connection (IP54), low version,
10-poles

70.372.1035.1 Hood BAS GOT GK 10 M20 A1 Hood revos basic made of aluminum, with double locking lever and
threaded hole M20 on the top - free cable connection, low version, 10-
poles

70.372.1035.3 Hood BAS GOT GK 10 M20 A3 Hood revos basic made of aluminum, with double locking lever and

trumpet gland M20 on the top - free cable connection (IP54), low
version, 10-poles

73.350.1035.0 Hood BAS GOT GA 10HM25 50 AO Hood revos basic made of aluminum, for double locking lever or.

screw cap with cable gland M25 on the right side (IP54), low version,
10-poles

73.350.1035.1 Hood BAS GOT GA 10HM25 50 A1 Hood revos basic made of aluminum, for double locking lever or.

screw cap with threaded hole M25 on the right side, low version, 10-
poles

73.350.1035.3 Hood BAS GOT GA 10 M20 A3 Hood revos basic made of aluminum, for double locking lever or.

screw cap with trumpet gland M20 on the right side (IP54), low
version, 10-poles

73.351.1035.0 Hood BAS GOT GB 10H M20 A0 Hood revos basic made of aluminum, for double locking lever and
cable gland M20 on the front (IP54), low version, 10-poles

73.351.1035.1 Hood BAS GOT GB 10H M20 A1 Hood revos basic made of aluminum, for double locking lever and
threaded hole M20 on the front, low version, 10-poles

73.352.1035.0 Hood BAS GOT GC 10HM25 50 A0 Hood revos basic made of aluminum, for double locking lever or.

screw cap with cable gland M25 on the top (IP54), low version, 10-
poles

73.352.1035.1 Hood BAS GOT GC 10HM25 50 A1 Hood revos basic made of aluminum, for double locking lever or.
screw cap with threaded hole M25 on the top, low version, 10-poles

73.353.1035.0 Hood BAS GOT GA 10HM32 50 A0 Hood revos basic made of aluminum, for double locking lever or.
screw cap with cable gland M32 on the right side (IP54), low version,
10-poles

73.353.1035.1 Hood BAS GOT GA 10HM32 50 A1 Hood revos basic made of aluminum, for double locking lever or.
screw cap with threaded hole M32 on the right side, low version, 10-
poles

73.353.1035.3 Hood BAS GOT GA 10HM32 50 A3 Hood revos basic made of aluminum, for double locking lever or.

screw cap with trumpet gland M32 on the right side (IP54), low
version, 10-poles

73.354.1035.0 Hood BAS GOT GC 10HM32 50 A0 Hood revos basic made of aluminum, for double locking lever or.
screw cap with cable gland M32 on the top (IP54), low version, 10-
poles

73.354.1035.1 Hood BAS GOT GC 10HM32 50 A1 Hood revos basic made of aluminum, for double locking lever or.
screw cap with threaded hole M32 on the top, low version, 10-poles

70.320.1028.0 Bottom BAS GUT GA 10 A Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap, low version, 10-poles

70.325.1028.0 Bottom BAS GUT GE 10 A Bottom-base revos basic made of aluminum, for double locking lever
and protective cover, open, low version, 10-poles

70.330.1035.0 Bottom BAS GUT GB 10 M20 A0 Bottom-base revos basic made of aluminum, with double locking lever

or.screw cap with cable gland M20 on the right and left side (IP54), low
version, 10-polig
70.330.1035.1 Bottom BAS GUT GB 10 M20 A1 Bottom-base revos basic made of aluminum, with double locking lever

or.screw cap with threaded hole M20 on the right and left side, low
version, 10-polig

Creation date 14.04.2015 Reserve technical changes Page 7



70.331.1035.0

70.331.1035.1

70.333.1035.0

70.333.1035.1

70.334.1035.0

70.334.1035.1

70.335.1035.0

70.335.1035.1

70.337.1035.1

70.340.1035.0

70.340.1035.1

70.341.1035.0

70.341.1035.1

70.342.1035.0

70.342.1035.1

70.343.1035.0

70.343.1035.1

70.344.1035.1

73.330.1035.0

Bottom BAS GUT GC 10 M20 A0

Bottom BAS GUT GC 10 M20 A1

Bottom BAS GUT GD 10 M20 A0

Bottom BAS GUT GD 10 M20 A1

Bottom BAS GUT GB 10 M25 A0

Bottom BAS GUT GB 10 M25 A1

Bottom BAS GUT GC 10 M25 50 A0

Bottom BAS GUT GC 10 M25 A1

Bottom BAS GUT GD 10 M25 A1

Bottom BAS GUT GF 10 M20 A0

Bottom BAS GUT GF 10 M20 A1

Bottom BAS GUT GG 10 M20 A0

Bottom BAS GUT GG 10 M20 A1

Bottom BAS GUT GH 10 M20 A0

Bottom BAS GUT GH 10 M20 A1

Bottom BAS GUT GI 10 M20 AO

Bottom BAS GUT GI 10 M20 A1

Bottom BAS GUT GB 10 M25 A

Bottom BAS GUT GB 10HM25 50 A0

vz wieland

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with cable gland M20 on the left side (IP54), low version,
10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with threaded hole M20 on the left side, low version, 10-
polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with cable gland M20 on the right side (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with threaded hole M20 on the right side, low version, 10-
polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with cable gland M25 on the right and left side (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with threaded hole M25 on the right and left side, low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with cable gland M25 on the left side (IP54), low version,
10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with threaded hole M25 on the left side, low version, 10-
polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with threaded hole M25 on the right side, low version, 10-
polig

Bottom-base revos basic made of aluminum, for double locking lever
withcable gland M20 on the left and right side, with protective cover
(IP54), low version, 10-polig

Bottom-base revos basic made of aluminum, for double locking lever
withthreaded hole M20 on the left and right side, with protective cover,
low version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andcable gland M20 on the left side, with protective cover (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andthreaded hole M20 on the left side, with protective cover, low
version,10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andcable gland M20 on the right side, with protective cover (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andthreaded hole M20 on the right side, with protective cover, low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andcable gland M20 on the bottom, with protective cover (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andthreaded hole M20 on the bottom, with protective cover, low
version, 10-polig

Bottom-base revos basic made of aluminum, with protectiv cover and
cable glands on the right and left side (IP54), low version, 10-poles
Bottom-base revos basic made of aluminum, with double locking lever

or.screw cap with cable gland M25 on the right and left side (IP54), low
version, 10-polig

Creation date 14.04.2015

Reserve technical changes Page 8



73.330.1035.1

73.331.1035.0

73.331.1035.1

73.334.1035.0

73.334.1035.1

73.335.1035.0

73.335.1035.1

73.340.1035.0

73.340.1035.1

73.341.1035.1

73.342.1035.1

73.344.1035.1

73.345.1035.0

73.345.1035.1

72.310.1053.0

Bottom BAS GUT GB 10HM25 50 A1

Bottom BAS GUT GC 10HM25 50 AQ

Bottom BAS GUT GC 10HM25 50 A1

Bottom BAS GUT GB 10HM32 50 A0

Bottom BAS GUT GB 10HM32 50 A1

Bottom BAS GUT GC 10HM32 50 AO

Bottom BAS GUT GC 10HM32 50 A1

Bottom BAS GUT GF 10HM25 50 AO

Bottom BAS GUT GF 10HM25 50 A1

Bottom BAS GUT GG 10HM25 50 A1

Bottom BAS GUT GH 10HM25 50 A1

Bottom BAS GUT GF 10HM32 50 A1

Bottom BAS GUT GG 10HM32 50 A0

Bottom BAS GUT GG 10HM32 50 A1

Male insert BAS STS 10 2,5 69

vz wieland

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with threaded hole M25 on the right and left side, low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with cable gland M25 on the left side (IP54), low version,
10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with threaded hole M25 on the left side, low version, 10-
polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with cable gland M32 on the right and left side (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with threaded hole M32 on the right and left side, low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with cable gland M32 on the left side (IP54), low version,
10-polig

Bottom-base revos basic made of aluminum, with double locking lever
or.screw cap with threaded hole M32 on the left side, low version, 10-
polig

Bottom-base revos basic made of aluminum, for double locking lever
withcable gland M25 on the left and right side, with protective cover
(IP54), low version, 10-polig

Bottom-base revos basic made of aluminum, for double locking lever
withthreaded hole M25 on the left and right side, with protective cover,
low version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andthreaded hole M25 on the left side, with protective cover, low
version,10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andthreaded hole M25 on the right side, with protective cover, low
version, 10-polig

Bottom-base revos basic made of aluminum, for double locking lever
withthreaded hole M32 on the left and right side, with protective cover,
low version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andcable gland M32 on the left side, with protective cover (IP54), low
version, 10-polig

Bottom-base revos basic made of aluminum, with double locking lever
andthreaded hole M32 on the left side, with protective cover, low
version,10-polig

Male insert revos basic, 10-poles, rated current: 16A, rated voltage:
690V, with tin-plated contacts

Creation date 14.04.2015

Reserve technical changes Page 9



| 7 3 L 5 6
Polbelegung / pole assignment Gezeichnete Ausfihrung: [ 77 e .
Steckerseite / plug side drawn version: = = 2 48
L Steckereinsatz / plUg insert @@ n-|r|=|-|rr1-|rr1-|rr1-|rr"|-|rl=|-|rr1-|rr1-|rr1-|rr1-|rr—'l-lrll"lJ I R ) TI_II_ITI E;jé
2o | — Steckereinsatz / fUDUUDDUDUDUU—[ﬁ =l [{ﬂ Eﬂg té g
a%@» S T 8 x g2 2= ¢e 2 X 2 @ . A5 S = = = =/ I L= 1= L=/ =/ =/ A= Voo SE£§
I plug insert Shies =i s TE— T aki:
= | 72.710.2458.0 % % J55;
B 77. .7. .7. .:. .7. .7. .1 2L polig / bt -
s il 00000 OGOOGOGOEOOO 24 pole \ / = Eace
égg@' N T 2 o ® N~ ©® 1 a4 N - % | 34 %;é
ié%@ e L 2 2s - 2 o © ggmé
U|:| % ' i = =EE e
s [ |
= o000 00000 ' Buchseneinsatz / | 1
— : . , : }g p°=l9 / sockert insert , . E% T |
®© 66066090090 pote 72.700.2458.0 F J_Irn = W W - W - W W r='\IJ- Q o : p
OO0O00O0D0D0O000On0 -
@» ,w ~ @ T MmN -—‘ $ |_ HHHHHHHHHHHH _I ] £
O | | B-EEEvEEEvAEvEREvEESvEIRvEEEvE [RvEEEvERE - A Vo
o [== - [ @
B S o o ~ © |
= | o0 L o0 i | 0
N _— 10 polig 7 l
- e O 7 o O 10 pole 6 polig / .'.~I
2z s ‘ 6 pole ® ® . .
Lo le - < o o~ - o, ? Weitere Daten siehe Katalog
S i | — further dota see catalog
;%l .L. & v = - ~-] o Teile - Nr. L |
_,_..jl-—— 6 polig / [ 72.700.0658.0 49,8 4L
w ® ® 6 pol ‘
10k ’ pote 10 polig / ""1 Buchseneinsatz |72.700.1058.0 62,8 57
o o1 o 10 pole codee sockert insert |72.700.1658.0 83,3 77,5
O o = ==<] o 72.700.2458.0 109,8 104
(o~ ] . N
O [e s ew o~ -] O 72.710.0658.0 49,8 4k
ec0co0o0o0o0e e Steckereinsatz |72.710.1058.0 62,8 57
6 poli o , 3 , : -
| 72.710.2458.0 109,8 104
$\ | 2 = = =2, - -2 ° 1 $/ Tolerierung nach DIN 7167/Tolerance system ace, to DIN 7167, josyes B Stoffverbots- und Deklorationsliste noch UW-TOM-05/03 ist einzuholten.
‘ | [This DIN-standard desbribes the envelope principle. According to Ihe envelope Canfarmity with Wieland document UU-TOM-05/03 [1ist of prahibited /
% — principle the deviclions of Torm ond parallelism ore Limited by the size ltuleronces], declorable hozardous substances| 1o be declared!
$ 2 Z 2 o o ~ i«o oo e N - @’ Freitoleranz noch CAD - Zeichnung, keine manuellen Anderungen 1 Verwendung: Blotl o
‘ General folerance CAD - drowing, no monval modifications ol lowed |First Use: Sheel: of
T N EEENEENNE N ) / G@ Werkstoff /Moterial 2006 | Tag/Date Naome Zeichnung Nr./Drowing No. Index
24 polig / — : : i : » ~I / e L os00. | Treschar T 77 700 2458 0 01K b
24 pole 00000000000 I T oy S '
$ 94 M N — O O @ I~ O W 2 ™ $ / A !?grggfpghm B Mafe in omfDimensions are in mm
\ L B L S S . i = - - T - = J/ /ol rrm’lDH_/Sur{_ mit| Ersolz Tir/Replacement for: -
P | b | / I ) t b |oi 10,2006/ > o H ©:| Iype Benennung/Title
olbelegung pole assignmen s seae | Q%) WAIEB)N)
@@ Buchsenseite / sockert side e | o0 7 2T . Ci?ﬂNﬁg/EJTL\LSfJHZSW
' ' 18/ ohee Elelktrischa U ‘ ‘
Buchseneinsatz / sockert insert Anderung/Revision Verbindungen sockert insert / plug insert
7 3 . 5 5 QU-PEM-08/91

(e e ST I B B O A T () o i B e =

N~ — [

TX7002458001K_4 CADWI044 treschan 2006—10-04T13.31:33  1.000



